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(1) ZEBFR (V) TIBOERICED v =10 %
(ZIEamE m
a2 = L 9.V = 1.25
100 .
m= a3 X SL = 1.25 X 24 = 30.0 N/od :
Eo5T m = 30.0 N/uof
(317kEAMEW/C) m=-19.1+ 277 X C/W ) '
W/C =277 - (30.0 4+ 19.1) X 100 = 56.4 %
W/C = 564 %
(4) ik (W) ‘ WMTHOEHCED W = 151 ke/m
(DYHALEAZ & (C) C =W+ (W/C) X 100 = 151 = 56.4 X 100 = 268 keg/m
Cy= C +~ ¥ = 7268 +~ 3.04 = 88 £ /m
(6) TRE(A A =45 % X 1000 = 45 £/m
(7)%&1@”1‘13((}} UTEHOEFCED 7EAEM = 06450 i/m %%ﬁ@ =620 %
Gv = 0. 6450 > 1000 X 62.0 = 100 = 400 2 /o
Gl = Gv X 20.0 % X REEBE = 400X20.0%><273=218 keg/mi
G2 = Gy X 40.0 % X EEHBE = 400 X 40.0 % X 273 = 437 kg/nf
G3 = Gy X 40.0 % X FEerEE = 400 X 40.0 % X 2.73 = 437 ke/od
) HArfiEME(S) Sy = 1000 — WH+Cv+Gv+A) = 1000 — 684 = 316 2/mi
SI = Sv X 80.0 ¥ X REFE = 316><80[}°o><259=655 kg/mi.
S2 = Sv X 20.0 % X FEFE = 316 X 20.0 % X 2.66 = 167  keg/nd
(Q) Ml EME(s/a) s/a = Sv ~ (Gv+Sy) X 100 =441 %
(10) BiriEfndE (Ad) Ad = C X #m%E = 268 X 0.300 % = 2. 14 kg/mi
B2 & = ke/md
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